EEEROBABICTOINOBHZMEHIONTE, BERYME #HETEARMRESERMER(—WERYERAER)LVICEEER HETEABRMRESERMER](—MHBRFRAER) AT MIMER WS, ) OFHEERALTNET, B8 K

HOMMEROHIBESINTVSHEE, ZOEMELTNEY,

[AFA] #ETERBMRBEFERME(LTAE)

H{fia—F ZFR gl K2 BfL W E{f
— EERRE 4t 147kW (143~154kW) (200PS)
— BEEtsE 4t 154kW (143~154kW) (210PS)
— BRECERRIEE) 4t 147kKW (143~154kW) (200PS)
— SRS | B 3.1~3.5t 154kW s KEE20~26m3/min
— C: L) Gl 4t 135~154kW K EE20~26m3/min
— SEAIRS| B 4.5t 143~147kW A E=Z20~26m3/min
— 5| E 8t 210kW AR EZE20~26m3/min
— SRS | B 10~11t 257kW R KB E20~26m3/min

FroRsR k5|

4t 154kW F KB E40~50m3/min

Rk IR E

4.5t 147kW KA E40~50m3/min

FoRsR k5| =

8t 210kW & AEE40~50m3/min

Rk NG &

10~11t 257kW K EE40~50m3/min

a O
= O
a O
= O
a O
= O
a O
= O
a O
= O
a O
= O
— ok 4t 121kW (160PS) =) O
— fa/kE 4t 121.4kW = O
— ¥k E 4t 132kW (180PS) = O
— fa/kE 4t 154kW (210PS) = O
— ¥k E 10t 213kW = O
— fakE 10t 245kW B O
— ¥k E 10t 257kW (350PS) = O
- FERTVA X ZHEHE 2t =) O
— HHERTVAH X S#5EE 2t =) O
— INBY = T 5.8kW (8PS)  40kg/cm?2 = O
— WwKk7Z 7 ¢ 150mmH =) O
— WEXkTZ5 7 ¢ 200mmHA =) O
— WKk7Z 7 ¢ 250mmHa =) O
— WEKk7T7Z5 7 ¢ 300mmAA =) O
— WwKk7Z 7 ¢ 350mmH =) O
— WEKkT7Z5 7 ¢ 400mmHA =) O
— WKk7Z 7 ¢ 450mmHa =) O
— WEKk7F7Z5 7 ¢ 500mmHA =) O
— WwKk7Z 7 ¢ 600mmHa =) O

1/2R=2




[AFA] #ETERBMRBEFERME(LTAE)

EEEROBABICTOINOBHZMEHIONTE, BERYME #HETEARMRESERMER(—WERYERAER)LVICEEER HETEABRMRESERMER](—MHBRFRAER) AT MIMER WS, ) OFHEERALTNET, B8 K
HOMMEROHIBESINTVSHEE, ZOEMELTNEY,

Hffia— K E2Ya gl g2 ==Kiv2 E =<1
— WEKFTZ 5 ¢ 700mmH B O
— WEXkTZ5 7 ¢ 800mmMA =) O
— WKk7Z 7 ¢ 900mmHa =) O
— WEkTZ5 5 ¢ 1000mmAA =) O

2/2R=%




